
2019(Even)
01205/02105/P01205O2015

Time : 3Hrs.
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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)If the smallest division of a vernier is 

longer than the smallest division of its

main scales, the vernier is known as :

(a) Simple Vernier

(b) Direct Vernier 

(c) Retrograde Vernier

(d) None of these

(a) Geometrical Positioning system

(b) Global positioning system

(c) Both (a) and (b) 

(d) None of these

(i)
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2.875 , 0.585 , 1.825 , 2.720 

in leveling. Find the correction due to curvature .

Describe in detail .

O2015

11.

8

3
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(iii)

(iii)

(iv)

(ii)

Clinometer is used for measuring :

(a) Horizontal angel

(b) Vertical angel

(c) Both (a) and (b)

(d) None of these

A building is an obstacle to :

(a) Chaining

(b) Ranging

(c) Both (a) and (b)

(d) None of these
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(v)

(v)

(iv)

Correction for slope is always :

(a) Negative

(b) Positive

(c) Both (a) and (b)

(d) None of these

center of the area is known as :

(a) Base Line

(b) Check Line

(c) Tie Line

(d) All of the above

O2015

(vi)
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and compass surveying.

survey with a neat sketch .

of a level and 3 m long leveling staff over a 
continuously sloping ground at 20 m interval :
0.605 , 1.235 , 1.860 , 2.575 , 0.235 , 0.915 , 
1.930, 2.875 , 0.585 , 1.825 , 2.720 m. 

Calculate the R.L of  other points. Apply the 
arithmetic check.

9.
8

OR()

10.

8
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observed in traversing with a compass at a place 
where local attraction was suspected. Determine 
the correct fore and back bearings .

8

8.

Line F.B
0

60 30'
0

99 15'
0

38 45'
0

321 15'

B.B
0

240 30'
0

278 0'
0

221 30'
0

139 45'

AB

BC

CD

DE

0
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0
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0
240 30'
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221 30'
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(vii)

(vi)

optical square is :
0

(a) 30
0

(b) 45
0

(c) 60
0

(d) 90

(a) Whole circle bearing system
(b) Quadrantal bearing system
(c) Arbitrary bearing system
(d) All of the above

O2015

(vii)

(viii)
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(ix)

(viii)

it’s whole circle bearing is :
0

(a) 120
0

(b) 130
0

(c) 140
0

(d) 150

needle is:
0

(a) 30
0

(b) 45
0

(c) 60
0

(d) 90

O2015
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(ix)
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Differentiate between following terms :
(a) Face left observation and Face right observation
(b) Contour gradient and centour  interval .

OR

7.

Answer All Five Questions. 

Explain in detail the classification of survey .

correction for a 30 m steel tape under a pull of
100 N in three equal spans of 10m each . Weight
of one cubic cm of steel = 0.078 N. Area of  cross-
section of tape = 0.08 sq. cm.

8
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Compare self reading staff and target staff .

plane table survey over other methods .

table survey .

5.
4

6. 4

7
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(x)

surveyor’s compass is :
(a) Two
(b) Three
(c) Four
(d) None of these

(a) Alidade
(b) Spirit Level 
(c) Plumbing Fork
(d) Trough Compass

O2015

(xi)

(xi)

(xii)
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problem are methods of :
(a) Radiation 
(b) Resection
(c) Both (a) and (b)
(d) None of these

least office work ?
(a) Chain Surveying
(b) Compass Surveying
(c) Plane Table Surveying
(d) Theodolite Surveying

(xii)

O2015

(xiii)

(xiii)

(xiv)

13 O2015

Enumerate different types of chains. 

Describe any one.

(a) True Bearing

(b) Magnetic Bearing

(c) Back Bearing 

(d) Local Attraction

quadrantal bearing system with necessary sketch.

4.

4

4

3.
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(xx)

Answer all Five Questions. 

2.

4x5 =20

4

Differentiate between plane surveying and geodetic
surveying .

advantage in the surveying .

9
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following sight is taken ?

(a) Back Sight

(b) Fore Sight

(c) Both (a) and (b)

(d) None of these

also called minus sight ?

(a) Back sight

(b) Fore sight

(c) Both (a) and (b) 

(d) None of these

(xiv)

O2015

(xv)

(xvi)

(xv)
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(xix)

(xviii)

(xx)

Theodolite is used for measuring :
(a) Horizontal angle 
(b) Vertical angle
(c)  Both (a) and (b)
(d)  None of these

revolved about its horizontal axis in vertical
plane is known as :
(a) Transit Theodolite 
(b)  Non-Transit Theodolite 
(c) Both (a) and (b)
(d)  None of these

O2015

(xix)

10

(xvii)The rise and fall method of leveling provides
a complete check on :
(a) Back sight
(b) Fore sight
(c) Intermediate sight
(d) All of the above

place, the place is called .
(a) Valley
(b) Ridge
(c) Overhanging Cliff
(d) None of these

(xvi)

O2015

(xvii)

(xviii)
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